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QUESTION 1

What level of design will contain an automation platform, an operational monitoring platform, and a desktop platform?
A. Physical Design

B. Conceptual Design

C. Detailed Design

D. Logical Design

Correct Answer: D

QUESTION 2

An organization\\'s cloud team would like to reduce template sprawl. Below are the applications they want to deploy
using cloud templates:

MS SQL and Web IIS applications on OS types Windows 2016 and Windows 2019 Oracle WebLogic and Oracle DB
applications on OS types RHEL7 and RHEL 8

Which two options would meet these requirements? (Choose two.)

A. Create an image mapping for Windows and RHEL OS types

B. Create a Cloud Template for each application type with a combination of OS types

C. Create a Cloud Template or upgrade an existing one with user input to select the OS type

D. Create a Cloud Template for each OS type and have a user input option to pick the application type.
E. Create image mappings for OS types Windows 2016, Windows 2019, RHEL7 and RHELS

Correct Answer: AC

QUESTION 3

An architect has designed a vRealize Log Insight (VRLI) cluster for an organization. Details of the cluster are provided
below:

3-node vRealize Log Insight cluster to collect logs for an organization NFS storage is enabled for archival data Once the
NFS storage is full, which will be the resulting scenario?

A. VRLI will stop ingesting new data and unless free space is available, loss of data will occur.
B. vRLI will automatically delete the oldest archived logs, resulting in archived data loss.
C. vRLI will further compress the active logs to make more space available in NFS storage.

D. vRLI will send a notification and automatically disable log archiving.
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Correct Answer: A

QUESTION 4

An architect is designing a certificate strategy for vRealize Operations (VROps) to satisfy the following requirements:
Enhance security Avoid browser warnings The certificate must be applicable for all vROps servers

Which three design decisions would fulfill the requirements? (Choose three.)

A. Certificates will use the PEM format.

B. Certificates will be created using the Diffie-Hellman security-key algorithm.

C. Certificates will use the PFX and/or PKCS12 format.

D. The solution will use CA-signed certificates.

E. Certificates will use multiple Subject Alternative Name (SAN) entries.

F. The solution will use self-signed certificates.

Correct Answer: ADE

QUESTION 5

An architect is responsible for designing a new multi-cloud management solution for a customer. The
customer has a cloud first strategy ad has provided the following high-level information about their current
usage of the cloud:

The customer has public cloud presence in AWS, Azure and GCP and uses a number of native cloud
services.

The customer runs all vSphere-based workloads within VMware Cloud on AWS.

The customer would like to ensure they have the ability to deploy and monitor supported workloads and
native services in any of their clouds. In addition to the deployment of vRealize Automate Cloud, which two
recommendations should the architect make to meet the requirement? (Choose two.)

A. vRealize Operations Cloud and vRealize Log Insight Cloud must be deployed into the same organization as vRealize
Automation Cloud.

B. Create Cloud accounts in vRealize Operations Cloud with each of the cloud services to enable monitoring.

C. vRealize Operations Cloud and vRealize Log Insight Cloud must be deployed into the same organizations as
VMware Cloud on AWS.

D. Create Cloud accounts in vRealize Operations Cloud for AWS, Azure and VMware Cloud on AWS. GCP must be
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configured through the management pack.

E. Deploy a vRealize Operations Cluster in VMware Cloud on AWS and configure integration to vRealize Automation
Cloud.

Correct Answer: CE

QUESTION 6

What are two requirements for deploying a small deployment of vRealize Automation? (Choose two.)
A. Certificate Authority (CA)-signed certificate for all the components of deployment

B. Upgrading the existing vRealize Suite Lifecycle Manager

C. Valid, fully-qualified domain name that can be resolved with both forward and reverse lookup

D. Configured load balancers

E. Single, static IPv4 and network address

Correct Answer: CE

QUESTION 7

A company has recently completed an audit and has found that there are many virtual machines in their production
environment which no longer appear to be in use. To prevent this from happening in future, the company is deploying
vRealize Automation and would like all provisioned VMs to meet following requirements:

VMs to have a default lease of 90 days and no more than 365 days Lease policy can be overridden on case by case
basis Upon initial lease expiry, the VM should be kept for 10 days after which they will be destroyed

Which policy design will meet the technical requirements?

A. Create a lease policy with the organization scope, setting 90 days lease, 365 total lease and grace period to 10 and a
hard enforcement

B. Create a lease policy with the organization scope, setting 90 days lease, 365 total lease and grace period to 10 and a
soft enforcement

C. Create a lease policy with the project scope, setting 90 days lease, 365 total lease and grace period to 10 and a soft
enforcement

D. Create a lease policy with the project scope, setting 90 days lease, 365 total lease and grace period to 10 and a hard
enforcement

Correct Answer: C

QUESTION 8

An architect is designing a greenfield VMware vRealize Cloud Management solution. During the requirements gathering
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workshop with the customer, the future Service Owner made the following comment: The Maximum Tolerable Downtime
(MTD) for the Cloud Management solution is 1 hour.

When creating the design documentation, which design quality should be used to classify the requirements?
A. Manageability

B. Availability

C. Recoverability

D. Performance

Correct Answer: C

QUESTION 9

An organization has a set of requirements for its private cloud:

Provide the ability to reclaim idle VMs deployed in vRealize Automation (VRA) Report on the health of resources
provisioned in VRA Calculate the cost of VMs provisioned in VRA Optimally place vRA deployment workloads to vSAN
and avoid contention

Which cloud management product should be integrated with VRA to meet these requirements?

A. VRealize Operations

B. vRealize Orchestrator

C. vRealize Suite Lifecycle Manager

D. vRealize Log Insight

Correct Answer: B

QUESTION 10

An architect is responsible for reviewing the requirements for an existing Cloud Management solution design.
Which requirement would be considered as a functional requirement?

A. The solution must meet a monthly uptime SLA of 99.5%.

B. The solution must meet a Recovery Point Objective (RPO) of 1 day.

C. The solution must support the management of workloads within a public cloud.

D. The solution must meet a Recovery Time Objective (RTO) of 4 hours.

Correct Answer: C
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